
SAP ABAP table PTCOR_LOGISTIC_STRUC {Logistics Orders (Correction Scenario)}

PTCOR_LOGISTIC_STRUC

MEINH [UNIT (3)]

VGE01 [UNIT (3)]

SOE01 [UNIT (3)]

RUE01 [UNIT (3)]

VGE02 [UNIT (3)]

SOE02 [UNIT (3)]

RUE02 [UNIT (3)]

VGE03 [UNIT (3)]

SOE03 [UNIT (3)]

RUE03 [UNIT (3)]

VGE04 [UNIT (3)]

SOE04 [UNIT (3)]

RUE04 [UNIT (3)]

VGE05 [UNIT (3)]

SOE05 [UNIT (3)]

RUE05 [UNIT (3)]

VGE06 [UNIT (3)]

SOE06 [UNIT (3)]

RUE06 [UNIT (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 PTCOR_LOGISTIC_STRUC-MEINH = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-RUE01 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-RUE02 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-RUE03 = T006-MSEHI 

0..N

0..N
 PTCOR_LOGISTIC_STRUC-RUE04 = T006-MSEHI 

0..N

0..N  PTCOR_LOGISTIC_STRUC-RUE05 = T006-MSEHI 

0..N

0..N  PTCOR_LOGISTIC_STRUC-RUE06 = T006-MSEHI 

0..N

0..N
 PTCOR_LOGISTIC_STRUC-SOE01 = T006-MSEHI 

0..N0..N
 PTCOR_LOGISTIC_STRUC-SOE02 = T006-MSEHI 

0..N
0..N  PTCOR_LOGISTIC_STRUC-SOE03 = T006-MSEHI 

0..N0..N  PTCOR_LOGISTIC_STRUC-SOE04 = T006-MSEHI 
0..N0..N

 PTCOR_LOGISTIC_STRUC-SOE05 = T006-MSEHI 0..N0..N

 PTCOR_LOGISTIC_STRUC-SOE06 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-VGE01 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-VGE02 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-VGE03 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-VGE04 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-VGE05 = T006-MSEHI 

0..N

0..N

 PTCOR_LOGISTIC_STRUC-VGE06 = T006-MSEHI 

0..N

0..N


